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P?&@iﬁ@ 1 ?mz Operations With Radical Expressions
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Simplify each expression.

1. 3V7 + 5V7 2. 10V4 — V4 3. 4V2(2 + 2V/3)

4. 45 + 2\/5 5. 12V11 + 7V11 6. V2(2V3 - 4V2)

7. V28 + V63 8. 3V6 - 8V6 9. V3(V6 - V12)
10. V18 - V50 11. 4V2 + 28 12. 13V15 - 11V15
13. 3(8V3 - 7) 14. 8(2V/5 + 5V2) 15. 1721 — 1221
16. V(7 + 3V/3) 17. 8(4 - 3V2) 18. 2V12 + 6V27
19. 19V3 + V12 20. 8V/26 + 1026 21. V10(3 - 2V/6)
22. 9V2 - V50 23, 1013 - 7V13 24. 126 — 424
25. 5\/7 + V28 26. 8V13 — 12V13 27. 13V40 + 6\/10
28. —3V3(Ve +V3) 29. 12V/29 - 15V29 30. 10V6 — 2V6
31. 8V3 - V75 32. 3V/6(2V/3 + V) 33. 17V35 + 2V/35
34. V19 + 4V19 35. 12\/9 — 49 36. V8(V2 - 7)
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40. (Ve - 3) at1. (3V5 +V/5) 2. . 7
43. —-»«—-—53_“2\(}6 44. 7—6:—13—3— 45. Wj%;;;\//%

Seive each exercise by using the golden ratic (1 + \/§> 12

46. The ratio of the height : width of a window is equal to the golden ratio.
The width of the door is 36 in. Find the height of the door. Express your
answer in simplest radical form and in inches.

47. The ratio of the length : width of a flower garden is equal to the golden
ratio. The width of the garden is 14 ft. Find the length of the garden.
Express your answer is simplest radical form and in feet.

48. The ratio of the width : height of the front side of a building is equal to
the golden ratio. The height of the building is 40 ft. Find the width of
the building. Express your answer in simplest radical form and in feet.
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Algebra 1 Chapter 11 Lesson 11-2 Practice




